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I. Mark the letter A, B, C, or D to show the underlined part that needs correction. 
Question 1: If they took their language lesson seriously, they would be able to communicate with the locals now.

                                  A                                            B                      C                                                     D

Question 2: Every city in the United States has traffic problems because the amount of cars on America streets and highways is increasing every day.   A                B                                            C                        

                               D
Question 3: The Girls Scouts, found by Juliette Gordon Low in 1912, has grown to a current membership of 

                                                      A                                                           B

more than three million girls.                                                                                                                                            C                             D

Question 4: The computer software industry is one of the most competitive markets in today’s  technological advanced society.          A                                               B                                                         C                 D

Question 5: In the human body, blood flows from a heart through the arteries and it returns through the veins.


          A                                                      B                                   C                                         D      
II. Read the following passage and mark the letter A, B, C, or D to indicate the best option for each of the blanks. 
        The Industrial Revolution in Britain was built on the use of machines in factories. Since the 1950s, Britain's (51) ____ industries have replaced machine operators with computers, and this (52) ___ has led to a decline in the number of (53) ___ in many factories. Goods are bought and used much more than ever before but a lot of these goods are imported. By the beginning of the 20th century, other industrial countries like the USA were (54) ___ with Britain's exports, and countries in the Far East have been able to provide cheaper (55) ____since the 1970s. Areas located with heavy industries are suffering high unemployment. During the last 30 years, there has been a constant rise in smaller industries (56) ____ as "light industries". These ones use electricity and are not (57) ____ on raw materials such as coal so they are "footloose", i.e. they can be located anywhere. They produce such things as washing machines or spare (58) ___ Some of these industries produce nothing at all, but provide services like distribution. The consumer boom of the 1980s and the increased leisure time of most Britons have led to rapid (59) ____ in service industries like banking, tourism, retailing and information processing, and in industries which distribute, maintain, and repair (60) ____ consumer goods. 

Question 6: A. manufacturing           
B. big 


C. large 


D. running 

Question 7: A. replacement

B. change 

C. exchange 

D. automation 

Question 8: A. employers 

B. employees 

C. labors 

D. servers 

Question 9: A. working 

 B. familiar
 
C. competing 

D. fed up 

Question 10: A. things  

 B. products 

C. produce
 
D. imports 

Question 11: A. considered 

B. regarded 

C. known 

D. worked 

Question 12: A. dependent 

B. reliable 

C. dependable            
D. command 

Question 13: A. details  

B. parts 

C. sections 

D. gadgets 

Question 14: A. growth 

B. increase 

C. expansion 

D. extension 

Question 15: A. everyday

B. home 

C. household 

D. expensive 

III. Mark the letter A, B, C, or D to indicate the correct answer to each of the following questions
Question 16: ___________the government fall, the stock market will crash.

     A. Provided

B. In case 
 
C. Should 


D. Had

Question 17: Staying in a hotel costs ___________renting a room in a dormitory for a week.

     A. twice more than   B. as much twice            C. more than twice as
             D. twice as much as

Question 18: Please accept this cheque as a __________ of your services.

     A. recognizement
B. recognition

C. recognizing

             D. recognization

Question 19: : Price increases are now running at a(n) ___________ level of thirty percent.

A. highest               B. record                         C. uppermost

D. top

Question 20: Tom: "I don't think English is too hard to study" +  Jerry:  " ______________" 

     A. I do too 

B. I don't neither
C. neither do I


D. either do I

Question 21: ___________over long distances is a fact.

     A. That electricity transmitting                         B. That electricity can be transmitted 

     C. That electricity
                           D. That can be transmitted

Question 22: -Lorie is very thin, ____________her young sister, who is quite heavy.

     A. unlike                     B. dissimilar to             C. dislike                               D. unlikely

Question 23: Population expansion seems to surpass the ability of the earth to meet ___________food.

     A. the requirement of   B. the command of      C. the demand for                 D. the necessity for

Question 24: It is essential ___________.

A. that everyone to know what to do when there is a fire       B. for everyone who knows what to do in the event of fire     

C. that everyone know what to do when there is a fire
       D. for everyone knowing what to do in the event of fire

Question 25: Either excessive social obligations or just plain laziness __________him from his work.

A. has kept

B. has been kept
C. have kept


D. have been kept

Question 26: The reason why this game attracts so many youngster is that ______ other video games, this one is far more interesting.      A. comparing to
B. in compared with
C. on comparison to 
D. in comparison with

Question 27: ___________one day by a passing car, the dog never walked proper again.

     A. Having injured
B. Injuring

C. Injured

             D. To be injured

Question 28: The situation seems to be changing minute by minute.
     A. from time to time
B. time after time
C. again and again

D. very rapidly

Question 29: I cannot understand why she did that, it really doesn’t add up.

     A. doesn’t calculate 
B. isn’t mathematics
C. doesn’t make sense

D. make the wrong addition

Question 30: Only in the Civil War___________ killed or wounded.

     A. soldiers in America were                            B. so many American soldiers were


     C. many in America were                                D. were so many American soldiers

Question 31: I’m sorry. I couldn’t come to your party last night.

     A. Excuse me. 
B. That’s all right.           C. You’re welcome. 

D. What a pity!

Question 32: Anne: "Make yourself at home". + John : "____________"

     A. Yes, Can I help you?                                 B. Not at all. Don't mention it. 

     C. Thanks! Same to you.                                D. That's very kind. Thank you. 

Question 33: With his excellent qualifications and a good command of English, James is ___above the   other applicants. 

A. head and hands 
  B. head and ears
 C. head and hair 
             D. head and shoulders

Question 34: If it___________ their encouragement, he could have given it up.

     A. had been for           B. hadn’t been for         C. wouldn’t have been for          D. hadn’t been

Question 35: All the students get the high marks in the test but Nga stood out.

     A. got a lot of marks. 



B. got higher marks than someone.

     C. got very good marks. 



D. got the most marks of all

Question 36: The judge ____________the murderer to a lifetime imprisonment.

     A. accused                   B. convicted                  C. sentenced
                             D. prosecuted

Question 37:  I’d rather you _________ in here.

     A. don’t  smoke           B. shouldn’t  smoke     C. didn’t smoke                         D. not smoke

Question 38: I think I should have _____________your mother while I was passing.

     A. dropped in on 
  B. come up with
 C. got on with 
                         D. run into

Question 39: She never says a word; she’s as ____________as a mouse.

A. quiet

B. small

 C. slight

            D. noiseless   

V. Read the passage and mark the letter A, B, C, or D to indicate the correct answer  to each of the questions.

Colors and Emotions.

Colors are one of the most exciting experiences in life. I love them, and they are just as important to me as emotions are. Have you ever wondered how the two are so intimately related?


Color directly affects your emotions. Color both reflects the current state of your emotions, and is something that you can use to improve or change your emotions. The color that you choose to wear either reflects your current state of being, or reflects the color or emotion that you need.

        The colors that you wear affect you much more than they affect the people around you. Of course they also affect anyone who comes in contract with you, but you are the one saturated with the color all day ! I even choose items around me based on their color. In the morning, I choose my clothes based on the color or emotion that I need for the day. So you can consciously use color to control the emotions that you are exposed to, which can help you to feel better.

Color, sound, and emotions are all vibrations. Emotions are literally energy in motion; they are meant to move and flow. This is the reason that real feelings are the fastest way to get your energy in motion. Also, flowing energy is exactly what creates healthy cells in your body. So, the fastest way to be healthy is to be open to your real feelings. Alternately, the fastest way to create disease is to inhibit your emotions.

Question 40: What is the main idea of the passage?

     A. Colorful clothes can change your mood
                   B. Emotions and colors are closely related to each other.

     C. Colors can help you become healthy.

      D. Colors are one of the most exciting.

Question 41: Which of the following can be affected by color?

     A. Your need for thrills
B. your friend's feelings
      C. your appetite

D. your mood

Question 42: Who is more influenced by colors you wear?

     A. The people around you are more influenced
       B. neither A nor C

     C. You are more influenced


                    D. Both A and C

Question 43: According to the passage, what do color, sound, and emotion all have in common?

     A. They all affect the cells of the body

       B. They are all forms of motion

     C. They are all related to health


       D. none of the above

Question 44: According to this passage, what creates disease?

     A. wearing the color black



        B. exposing yourself to bright colors

     C. being open to your emotions


        D. ignoring your emotions

Question 45: The term "intimately" in paragraph 1 is closest in meaning to___________.
     A. clearly


B. closely


C. obviously

D. simply

Question 46: The term "they" in paragraph 3 refers to___________.
     A. emotions

              B. people


C. colors

D. none of the above

Question 47: Why does the author mention that color and emotions are both vibrations?

     A. to show how color can affect energy levels in the body.
             B. Because they both affect how we feel.

     C. to prove the relationship between emotions and color.

D. Because vibrations make you healthy.

Question 48:  The phrase "saturated with" in paragraph 3 is closest in meaning to ___________.
     A. bored with

B. in need of


C. covered with

D. lacking in

Question 49: What is the purpose of the passage?

A. to persuade the reader that colors can influence emotions and give a person more energy

B. to show that colors are important for a healthy life      C. to give an objective account of how colors affect emotions

D. to prove the relationship between color and emotion

VI. Choose one word marked A, B, C or D whose stress pattern is different from the others in each groups.
Question 50: 
A. engineering
B. compulsory
C. communicate
D. philosophy
Question 51: 
A. agree
B. prepare
C. Summer
D. await
Question 52:    A. compulsory
           B. domestic
            C. substantial
            D. dominate

Question 53: 
A. recent
B. answer
C. fertile
D. remove
Question 54: 
A. advertise
B. consumption
C. influence
D. history

VII. Read the passage then circle the best option A, B, C or D to complete the following questions or statements:

                  During the 19th century, women in the U. S organized and participated in a large number of reform movements, including movements to reorganize the prison system, improve education, ban the sale of alcohol, and most importantly to free slaves. Some women saw similarities in the social status of women and slaves. Women like Elizabeth Cady Stanton and Lucy Stone were feminists and abolitionists who supported the rights of both women and blacks. A number of male abolitionists, including William Lloyd Garrison and Wendell Phillips also supported the rights of women to speak and participate equally with men in anti- slavery activities. Probably more than any other movement, abolitionism offered women a previously denied entry into politics. They became involved primarily in order to better their living conditions and the conditions of others.

          When the Civil war ended in 1865, the 14th, and 15th, Amendments to the Constitution adopted in 1868 and 1870 granted citizenship and suffrage to blacks but not to women. Discouraged but resolved, feminists influenced more and more women to demand the right to vote. In 1869, the Wyoming Territory had yielded to demands by feminists, but eastern states resisted more stubbornly than ever before. A woman's suffrage bill had been presented to every Congress since 1878 but it continually failed to pass until 1920, when the 19th Amendment granted women the right to vote.

Question 55: What is the topic of the passage?       A. Women's suffrage
   B. Abolitionists
     C. The Wyoming  Territory.
   D. The 14th and 15th Amendment

Question 56: What is not among the reformation movements of women?

     A. reorganizing the prison
   B. passing the laws
     C. freeing the slaves
   D. prohibiting the sale of alcohol
Question 57: According to the passage, why did women become active in politics?

     A. to improve the conditions of life that existed at the time.       B. to support Elizabeth Cady Stanton
     C. to amend the Declaration of Independence


  D. to be elected to public office.
Question 58: The word" primarily" in the first paragraph is closest in meaning to ___________.

     A. somewhat
   B. above all
   C. always
   D. finally
Question 59: What had occurred shortly after the Civil War?

     A. The eastern states resisted the end of the war.            B. Black people were granted the right to vote.
     C. The Wyoming territory was admitted to the Union.   D. A women's suffrage bill was introduced in Congress.

Question 60: The word " suffrage" could be best replaced by___________.

     A. citizenship
   B. right to vote
   C. pain
    D. freedom
Question 61: What does the 19th Amendment guarantee?

A. Citizenship for women      B. Citizenship for blacks     C. Voting rights for women   D. Voting rights for blacks
Question 62: When were women allowed to vote throughout the US?

     A. After 1920
   B. After 1878
   C. After 1870
     D. After 1866

Question 63: What is wrong about William Lloyd Garrison?

     A. He was living at the same time with Lucy Stone and Wendell Phillip.           

     B. He used to be a slave.
     C. He supported the rights of women                                   

      D. He believed in equality between men and women.
Question 64: What cannot be inferred from the passage?

A. The blacks were given the right to vote before women.       

B. The abolitionists believed in anti- slavery activities.
C. A women's suffrage bill had been discussed in the Congress for 50 years.
D. The eastern states did not like the idea of women's right to vote.
PHẦN TỰ LUẬN: (2 điểm)

I. Rewrite each of the following sentences in such a way that the original meaning is exactly the same as the provided one.

1. I get to work in 20 minutes.

     It _________________________________________

2. It is necessary that this work be finished by Monday.

     This work_________________________________________

3. It’s a pity I didn’t take my doctor’s advice.

     I wish_________________________________________

4. The bread is so tale we can’t eat it.

      The bread isn’t_________________________________________

5. Who does this bag belong to?

      Whose_________________________________________

II. TOPIC: In today’s competitive world, many families find it necessary for both parents to go out to work. While some say the children in these families benefit from the traditional income, others feel they lack support because of their parents’ absence. Discuss both these views and give your own opinions.
In the business-driven culture nowadays, in order to adopt all of the so-called symbols of advanced life, in many families; both parents have to work hard all day long for their children to enjoy the best. It’s true that those children benefit from the joint income and the same, those grew up lacking parental support, and this practice is creating a negative feedback loop.

            Top of FormBottom of Form On the first note, one of the external influences on a child’s development is economic status; children in impoverished or low-income families are, often times, more prone to emotional difficulties than other children because parents have limited resources to address the children’s needs as an asset to a child’s overall development.  Therein, the income of parents is directly influential in the quality of care as well as of life a child has. So out of the love for their children, willy-nilly, both parents have no choice but work outside.

            However, gaining higher economic status does not guarantee better child development, in return to this, something must be lost. Parents with the help of close emotional bonds with children will be able to enhance a child’s motivation to comply with rules and requests and is associated with positive long term-outcomes so that they will grow up more independent, emphatic, and socially competent. Secure attachments to parents will underpin a child for positive, self-fulfilling expectations about other people which he will take into future relationships.

                   In an evolving culture where parents spend more time working and less time with their child, the child’s overall development is the one to suffer- the long-term implications of which not yet fully realized. Yet, it is important to step back and consider the quality of the current cultural environment and the ill-developed children it may produce, obviously this leads to the disability to handle relationships and the child fail to function better both socially and professionally, and this may impact generation after generation.

               Children need their parents to be affectionate, caring beings, whether working parent or stay-home parent; it doesn’t matter much. What really counts is that the parent loves the child, fosters secure attachments with her child and fathoms of what the child’s needs are. Otherwise, it is society that bears the consequences; its citizens are all ill- developed ones.

----------------THE END-----------------


